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Math 108A - Quiz # 3

May 28, 2000
Consider the linear map T : F? — F? defined by
T{z,y)=(z—y,xz~2y), forz,ye F
Let £ be the standard basis for F* and let B = {(3,1), (2,1)} be another basis for F?
1. Find the standard matrix for T
Mot (T £) = ('r\("é’.) T(:z:ﬂ) = ( : t;)
TEY=Tteo) = (o) = 15 cduman
TEED= TN = (-1,-2) = 2™ calumn,

2 Find both change of bases matrices between B and £ That is, find Mat(7,£,B) and
Mai(l, B, &) ~ but don’t worry about which is which.
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3. Find the matrix Mat(T, B, B} for T relative to the basis B.
EAS WAY T UWSE THE DERLMNITIRM:
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